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1[int _ cdecl main(int al, char **key)
2

3| if ( a1 > 1 & sub_8d48414(key[1], @) )
a {

5 puts("Access granted");

6 sub_8048538((int)key[1]);

71}

3l else

9 {
10 puts("Access denied");
11 ¥
12| return @;
130}

HEA\sub_ 8048414 % ¥HikHK

1|signed int __ cdecl 5ub_8@48414(_BYTE *key, int a2)
2{

3| signed int result; // eax
4

5| switch ( a2 )

6| {

7 case 0:

8 if ( *key == 105 )

9 goto LABEL 19;
18 result = @;
11 break;
12 case 1:
13 if ( *key == 101 )
14 goto LABEL 19;
15 result = @;
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16 break;

17 case 3:

18 if ( *key == 110 )
19 goto LABEL 19;
28 result = @;

21 break;

22 case 4:

23 if ( *key == 100 )
24 goto LABEL 19;
25 result = @;

26 break;

27 case 5:

28 if ( *key == 97 )
29 goto LABEL_19;
30 result = @;

3 break;

32 case 6:

33 if ( *key == 183 )
34 goto LABEL_19;
35 result = @;

36 break;
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25 result = 8;

26 break;

27 case 5:

28 if ( *key == 97 )
29 goto LABEL_19;
39 result = @;

31 break;

32 case 6:

33 if ( *key == 103 )
34 goto LABEL_19;
35 result = @;

36 break;

37 case 7:

38 if ( *key == 115 )
39 goto LABEL_19;
40 result = @8;

411 break;

42 case 9:

43 if ( *key == 114 )
AALABEL_19:

45 result = sub_8048414(key + 1, 7 * (22 + 1) % 11);
46 else

A7 result = @;

48 break;

49 default:

50 result = 1;

51 break;

52| }

53| return result;
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»>> for i in range
a2=7*%(a2+1
print a2
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1/int _ cdecl sub_80848538(int al)

2{

3| int v2[33]; // [esp+18h] [ebp-Agh]

4| int 1i; /f [esp+9Ch] [ebp-1Ch]

5

6| gmemcpy(vZ2, &unk 8048760, sizeof(v2));
7| for (1 =8; 1 <= 32; ++1 )

3 putchar(v2[i] ~ *(char *)(al + 1 % 8));
9/ return putchar(1@);

1a(}

HHES WX # pythonf % BI AT

key=[105,115,101,110,103,97,114,100
v2=[ Ox0F ,0x1F,0x04,0x09,0x1C,0x12,0x42,0x09,0x0C,0x44,0x0D,0x07,0x09,0x06,0x2D,0x37,0x59,0x1E,0x00,0Xx59, 0x0F ,0x0
8,0x1C,0x23,0x36,0x07,0x55,0x02,0x0C,0x08,0x41,0x0A,0x14

E

for i in 33
a

print(a
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